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Kernestof Mat2, hhx 

Facitliste til træningssider 

Træningssider 7 

1 

a. 5𝑥 + 10 

b. −𝑥2 + 8𝑥 + 12 

c. −20𝑥2 + 8𝑥 − 1 

2 

a. −3𝑎 + 𝑎𝑏 + 2𝑏2 − 6𝑏 

b. 2𝑎2 − 𝑎 − 5 

c. −2𝑎2 + 9𝑎𝑏 − 4𝑏2 + 7𝑏 

3 

a. 𝑎2 + 𝑏2 

b. −𝑝2 − 4𝑝𝑞 + 2𝑞2 

c. −𝑝2 + 2𝑝𝑞 − 𝑞2 + 3𝑞 

4 

a. 10 

b. 140 

c. 125 

d. 14 

5 

a. 550 

b. 1 200 

c. 1 050 000 

d. 208 

6 

a. 90 

b. 1 080 

c. 840 

d. 182 
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7 

a. Ca. 350 kr. Udregning: 500 ⋅ (1 − 0,3) = 500 − 150 = 350 

b. Ca. 11700 kr. Udregning: 13 000 ⋅ (1 − 0,1) = 13 000 − 1 300 = 11 700 

c. Ca. 3 200 kr. Udregning: 4 000 ⋅ (1 − 0,2) = 4 000 − 800 = 3 200 

d. Ca. 112,50 kr. Udregning: 125 ⋅ (1 − 0,1) = 125 − 12,5 = 112,5 

8 

a. 64 

b. 256 

c. 
1

5
 

9 

a. 300 

b. 470 000 

c. 2 537 

10 

a. 9 

b. 10 

c. 2 

11 

a. 256 

b. 36 

c. 500 

12 

a. 6 

b. 3 

c. 16 

13 

a. 64 

b. 144 

c. 
1

32
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14 

a. 𝑓1
′(𝑥) = 6𝑥5 

b. 𝑓2
′(𝑥) =

1

2√𝑥
 

c. 𝑓3
′(𝑥) = −

1

𝑥2
 

d. 𝑓4
′(𝑥) = −sin(𝑥) 

15 

a. 𝑔1
′ (𝑥) = 50𝑥4 − 21𝑥2 

b. 𝑔2
′ (𝑥) =

1

𝑥
+ 2𝑥 

c. 𝑔3
′ (𝑥) =

3

2√𝑥
− 10𝑥4 

d. 𝑔4
′ (𝑥) = −

10

𝑥2
+ 36e3𝑥 

16 

a. ℎ1
′ (2) = 12 

b. ℎ2
′ (4) =

1

4
 

c. ℎ3
′ (10) =

1

10
 

d. ℎ4
′ (−2) = −16 

17 

a. 𝑓1
′(𝑥) =

2

√4𝑥 + 15
 

b. 𝑓2
′(𝑥) =

3

(−3𝑥 + 10)2
 

c. 𝑓3
′(𝑥) = 15cos⁡(5𝑥 − 1) 

d. 𝑓4
′(𝑥) = −8e−2𝑥−12 
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18 

a. 𝑔1
′ (𝑥) =

3

2
√𝑥 

b. 𝑔2
′ (𝑥) =

ln(3) ⋅ 3𝑥

𝑥
−
3𝑥

𝑥2
 

c. 𝑔3
′ (𝑥) = (20𝑥2 − 2𝑥 − 27) ⋅ e5𝑥 

d. 𝑔4
′ (𝑥) = 7𝑥6 + 18𝑥5 − 16𝑥3 − 33𝑥2 + 6𝑥 

19 

a. ℎ1
′ (2) =

49

2
 

b. ℎ2
′ (4) = 3 

c. ℎ3
′ (10) = 1 

d. ℎ4
′ (−2) = 9 375 

20 

a. 𝑓1
′(𝑥) = 6𝑥 + 4 

b. 𝑓2
′(𝑥) = 𝑥2 ⋅ cos(𝑥) + 2𝑥 ⋅ sin(𝑥) 

c. 𝑓3
′(𝑥) =

𝑥2 + 8𝑥 + 9

2𝑥2 + 16𝑥 + 32
 

d. 𝑓4
′(𝑥) =

2𝑥

𝑥2 + 1
 

21 

a. 𝑔1
′ (2) = −9 

b. 𝑔2
′ (4) = −0,301 

c. 𝑔3
′ (10) = 4,989 

d. 𝑔4
′ (−2) = 5,809 
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22 

a. 𝑥 =
5

2
 

b. 𝑥 = −1,820 eller 𝑥 = 0 

c. 𝑥 = −1,096 eller 𝑥 = 1,596 

d. 𝑥 = 0,135 eller 𝑥 = 1 

23 

a. 5 

b. −3 

c. 2 

d. 100 

24 

a. 5 

b. −10 

c. 1 

d. 0 

25 

a. 2 

b. 4 

c. −2 

d. −6 

 


